1 | 4 ) | 6 | 7 | 8
REV, DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/31/09' T
15.00
NOTES:
4.0
1. PART NUMBER CODE:
DS1047-04 — 09 X X
LPacking type
A\ / 10 Mix packing
o, 4 2: Separaticn packing
R Cover Material
d = M: Metal{Znic alloy)
Fositions
09 9pin
L @ o
BOM LIST
TEM | PART NAME 'ty NOTES
1 SCREW 2 W2
2 METAL HOOD—1
3 BOLT 1 UNC#4—40
4 METAL HOOD—-2| 1
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @—-E]— TITLE | D-5UB 9pin Metal Hoods
X.  +0.60 X 45 UNITS mm Large Angled Cable Outlet
X 10,38 X123 SHEET SIZE A4 SERIES | DS1047-04 SERIES
XX £0.25 XX 2
GRAWNG TYPE [COSTONER All (ONnnectors
SCALE 1:1  [SHEET [ 1 OF 1 wwwall ors.eu | inforall tors.eu
DRAWING NO C-D51047-04—-09%X Tel. +49 (0)711 ! 358 110 20 | Fax +49 (0)711 | 356 110 25
| [ 5 5 | 7 8

4




| 2 | 3 | 4 ) | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED

A NEW RELEASE YCH 12/31/09' i

15.00
5.0 NOTES:

1. PART NUMBER CODE:

DS1D47—04 — 15 X X

42.08

[

FPucking type
10 Mix packing
2: Separation packing

o r . Cover Material
g | M: Metal{Znic alloy)
[}
l I = ‘ Positions
( J I i I 15: 15pin
| 1
[ 4 : D ‘
[ 4 ; J |
= [ pﬁ' ﬁ
|
20,00
33.32 !
38.540
BOM LIST
TEM | PART NAME 'ty NOTES
1 SCREW 2 M2
2 | METAL HOOD—1
3 | BOLT 2 |UNC#4—40
4 | METAL HOOD—2| 1
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @—E{]— TITLE | D-SUB 15pin Metal Hoods
X, £0.60 _— UNITS mm Large Angled Cable Outlet
X 10,38 X ¥ SHEET SIZE Ad SERIES | DS1047—-04 SERIES
XX £0.25 XX 2
SRAWING TYE [COSTONER All (ONnnectors
SCALE 1:1  [SHEET [ 1 OF 1 wwwall ors.eu | inforall tors.eu
DRAWING NO. C—DS1047—04—15%XX Tel. +49 (0)711 / 358 110 20 | Fax +49 (0)711 / 358 110 25
l 2 l 3 ' 4 [ 5 6 ! 7 ! 8




| 2 | 3 | 4 ) | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED

A NEW RELEASE YCH 12/31/09' T

15.00

25,20

/ NOTES:

38,00

1. PART NUMBER CODE:
DS1D47—04 — 25 X X

] [

FPucking type

= — ] 10 Mix packing
i ol : 2: Separation packing
rg | | Cover Material
i ! | M: Metal{Znic alloy)
| I Fositions
! 25: 25pin
| -
BOM LIST
ITEM | PART NAME Q'ty MOTES
1 SCREW 2 b3
z METAL HOOD—1| 1
3 BOLT 2 UNC#4—40
4 METAL HOOD—2| 1
GENERAL TOLERANCE| ANGLE TOLERANCE (PRQJECTION @—-E]— TITLE | D-5UB 25pin Metal Hoods
X.  +0.60 X 45 UNITS mm Large Angled Cable Outlet
X 10,38 X ¥ SHEET SIZE Ad SERIES | DS1047—-04 SERIES
XX £0.25 XX 2
SRAWING TYE [COSTONER All (ONnnNnectors
SCALE 1:1  [SHEET [ 1 OF 1 wwwall ors.eu | inforall tors.eu
DRAWING NO C-D51 G47_u4_25xx Tel. +49 (0)711 ! 358 110 20 | Fax +49 (0)711 | 356 110 25
l 2 ' 3 ' 4 | 5 6 l 7 l 8




38.00

[ 2 4 s) | 6 | 7 | s
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 12/31/09' ~_
1500
79,0
™ NOTES:
\ / 1. PART NUMBER GODE:

32.7C

42,16

DS1D47—04 — 37 X X

[

FPucking type
10 Mix packing
2: Separation packing

Cover Material
M: Metal{Znic alloy)

FPositions
37 37pin
40.00
6§3.50
59 .80
BOM LIST
ITEM | PART NAME Oty | NOTES
1 SCREW 2 b3
2 METAL HOOD—1 1
3 | BOLT 2 | UNC#4—40
4 | METAL HOQD—2] 1
GENERAL TOLERANCE| ANGLE TOLERANCE |PRQJECTION @—Eﬂ- TITLE | D-SUB 37pin Metal Hoods
Lorge Angled Cable Qutlet
X 40,38 X 5 SHEET SIZE Ad SERIES | DS1047-04 SERIES
XX +0.25 XX 2
SRAWING TYPE [COSTONER All [(ONnnNnectars
SCALE 1:1  [SHEET [ 1 OF 1 wwwall ors.eu | inforall tors.eu
DRAWING NO_ C-051047-04-37XX Tel. +49 (0)711 ! 358 110 20 | Fax +49 (0)711 | 356 110 25
l 2 4 [ 5 6 ! 7 ! 8






